emath: Systems of Equations

2)

a)

b)

Two solutions: X, =2 Yy, =2
X, =—4 y,=8
LOsungsweg:
Solve Eql fory: y=0.5x* (*)
Insert it into Eg2 and rearrange; you get a quadratic equation
0.5x* +x—-4=0
with the solutions above for x.
y-values by inserting x-values into (*).

Two solutions:  x;=-1 y; =15
X, =4 y,=-1
LOsungsweg:
Solve Eql forx: x=2-2y (**)
Insert it into EQ2 and rearrange; you get a quadratic equation
2y? —y—3=0
with the solutions above fory.
x-values by inserting y-values into (**).
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